BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,188 1,486 1,512 2,998
RiEhis iz 818 869 898 1,767
2K BT 7 $h 32§ AHTFE 206 208 237 445
AT R Hhig N 884 925 1,039 1,964
TR b i TR 1,051 1,194 1,383 2,577
=/ Eihig B/E 480 531 577 1,108
T BEEW 197 206 263 469
i 1w 105 138 151 289
miiRithig iR 264 287 346 633
s ZAR L 93 93 129 222
AR KE 928 1,043 1,092 2,135
it 2 Ehis dzE 490 543 548 1,091
B M-Af 162 184 185 369
LA 7ot R 198 220 221 441
F& Hhig Be 2,847 3,307 3,695 7,002
HHE A Hhig HES 1,987 2,296 2,579 4,875
ERAE) &g AEN&—~mTH 779 942 1,018 1,960
PR &Rz &EE~ATH 1,478 2,199 2,253 4,452
M B A Hhig MRS 2,399 3,409 3,461 6,870
HE3E A Hhig HmES 2,334 3,377 3,436 6,813
LA Hhig wIlUE 1,901 2,812 2,882 5,694
20,789 26,269 27,905 54,174

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
" e i3 H 189 236 284 520
AR FafaH 419 549 598 1,147
J6 3 B #hisg FEE 419 572 578 1,150
B E Hhig BETE 676 860 899 1,759
HEF 56 55 81 136
- LR 136 172 179 351
BRI B3 241 336 363 699
ek 46 37 68 105
a1&E 52 72 88 160
FH2E 131 147 191 338
IRt ERithis +Ia3%F 72 93 108 201
+IH4AE 51 63 72 135
+IH5%E 101 123 135 258
+tih6e&E 167 181 213 394
FR7%E 71 82 86 168
L inraEbitig +in8&E 95 125 123 248
EIHOFE 110 123 135 258
El10& 90 95 116 211
WERXsN 26 27 28 55
= e X 4% 6 4 8 12
R4 72 59 72 131
3,226 4,011 4,425 8,436

FR30FE58 K H
THH 5 5 X H

BAAERARD 29,763 36,665 39,345 76,010
SEAERAO 219 295 259 554
KENHAO 29,982 36,960 39,604 76,564

BAAFEREME- AOKETE (IBNE)

1T g £ AR X HEH 5 g 5

b b =] 247 290 305 595
BRI b N 125 148 170 318
= H 108 138 150 288
st 1 B 67 79 89 168
IR PR AL KE 222 247 246 493
EIEFE 19 24 24 48
FEFTHT 175 173 201 374
HTHET Hh iz h#TET 138 147 159 306
L FrET 135 178 153 331
FaET 184 203 246 449
FG T 16 24 28 52
fin B thig chET 37 36 37 73
BT 100 103 120 223
th 7% 86 89 114 203
1] 136 140 182 322
" ERER—TH 50 53 63 116
BRI A1 ERER=TH 295 332 345 677
ERER=TH 59 80 84 164
Rill 56 47 62 109
Lz k 31 18 33 51
it 42 47 48 95
hnyse R B sk N E 56 56 60 116
INETF 62 59 60 119
$£7 69 78 89 167
(LI 27 39 36 75
HERE 97 101 107 208
FeE) 5 114 132 153 285
AR 95 97 129 226
il 46 48 51 99
R R Hh i ® 33 37 36 73
BEKE& 63 63 74 137
IhVEF 73 70 94 164
mp 40 46 56 102
B 36 39 42 81
=i 38 M 46 87
B/ 12 14 17 31
N 6 7 5 12
7/ 33 40 43 83
ETF 21 26 27 53
W ITFF 15 16 21 37
SR e 11 14 11 25
=P 9 7 9 16
i35 4 3 2 5
N 13 11 14 25
bus 30 37 44 81
AR 43 51 67 118
FINTE & i EIGA= 2,374 2,657 2,863 5,520
5,748 6,385 7,015 13,400

TR 30F5 B KRBT

5% HIA R

X5 THHE z H

BARAERAO 29,714 36,636 39,322 75,958

SNEAEFERAO 209 287 256 543

KENHAQD 29,923 36,923 39,578 76,501
(BEH) (BH)

X5 TR 5 z B X5 ik 5
HEeE—TH 765 804 936 1,740 Wus—THB 213 265 266 531
HEZTH 560 623 715 1,338 WUE=TH 0 0 0 0
WE=ZTH 279 318 345 663 WILE=TH 1 3 1 4
HemTH 215 268 281 549 WILEMTE 0 0 0 0
HWERTH 736 936 1,015 1,951 WILERETHE 136 213 225 438
H&EATH 86 101 111 212 WILENRTEB 281 418 425 843
HWELTH 206 257 292 549 WLEtETHE 492 762 773 1,535

HESE—TH 233 281 326 607 WILE/INTE 0 0 0 0
HEEZTH 251 307 331 638 BWILENTHE 25 30 41 71
HEEB=TH 8 9 10 19 BWLE+TE 357 537 572 1,109
HEBMTH 0 0 0 0 wea+—TH 287 442 440 882
HEBRTH 308 353 401 754 WueE+=TH 0 0 0 0
HEBNTHE 176 208 246 454 WueE+=TH 109 142 139 281
HEBSETH 341 380 422 802
HEEB/N\THE 373 454 495 949
HEBATH 297 304 348 652

KZINE—TH 337 404 426 830

KEZJINEZTH 100 124 126 250

KENE=ZTH 342 414 466 880

KZEINEWMTH 0 0 0 0

KENERTH 236 385 381 766

REINEARTE 539 750 760 1,510 (&FH)

KENELTH 325 460 478 938 X5 ik &

KZINE/NTH 377 603 634 1,237 mmEe—TH 167 197 208 405

KEINEATH 1 1 0 1 EmE&E=TH 142 144 166 310
MEE—TH 516 760 717 1,477 ENE&E=TH 139 143 162 305
MEEZ=ZTH 137 214 203 417 FENEEmTH 120 132 152 284
MWRE=TH 248 338 377 715 FEINZEERTH 54 60 59 119
MWREMTH 264 347 364 711 EmnE&E/RTH 165 179 205 384
MEERTH 276 394 403 797 mAmEaetTHE 154 162 199 361
MEENRTH 421 582 602 1,184 EmEa/\TH 191 209 233 442
MWEREETH 312 486 472 958 EmEaenTE 184 204 227 431
MEE/NTH 225 288 323 611 mnEs+TH 178 201 208 409
m\EE—TH 295 304 332 636 EmxEe+—TH 258 289 286 575
W\EE-TH 379 540 536 1,076 EmE&sE+=TH 220 267 266 533
BEB=TH 368 568 610 1,178 Emxe+=TH 146 172 174 346
wBEAEMTH 300 454 472 926 Emxae+mTE 118 133 155 288
W\EERTE 372 598 608 1,206 Emxe+ETHE 138 165 163 328
HWEENTHE 331 594 561 1,155
WEELTE 288 318 317 635
HwmEE/\TH 1 1 0 1




